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THM 415: Finance

Midterm Exam Answer Sheet
1. Who is responsible, in a corporation, for raising capital, cash / credit management? (2 Points)

In a corporation, the person responsible for raising capital, cash / credit management is the treasurer.

2. Vida Hotel had recorded the following income statement accounts sorted in alphabetical order:

	Cost of Goods Sold
	$1,903,542

	Interest Expenses
	$205,471

	Operating Expenses
	$743,090

	Sales
	$5,524,510


In addition, since Vida Hotel owns 53 % shares of Demogaj Company, it is entitled to $ 1,520,080 of dividends income from that very company. Moreover, Vida hotel’s board of directors decided to distribute $ 265,420 as dividends to their shareholders.
The following table reveals Income Tax Rates for Corporate Income for 2017 fiscal year:

	Taxable Income
	Marginal Tax Rate

	
	

	$ 0 – $ 100,000
	18%

	$ 100,001 - $ 250,000
	20%

	$250,001 - $ 500,000
	23%

	$ 500,001 - $ 750,000
	26%

	$ 750,001 - $ 1,000,000
	29%

	$ 1,000,001 - $ 1,250,000
	32%

	Over $ 1,250,000
	35%


Lastly, the following table shows dividend income exclusion to avoid double taxation at corporate level.

	Ownership Interest
	Dividend Exclusion

	 
	

	Less than 15 %
	20%

	15 % to 30 %
	35%

	30 % to 45 %
	50%

	45 % to 60 %
	65%

	60 % to 80 %
	90%

	80 % and more
	100%


a) Construct Vida Hotel Income Statement for the year ended December 31st, 2017. (2 Points)

	Vida Hotel

	Income Statement

	For the Year Ended December 31st, 2017

	
	
	

	Sales
	
	$5,524,510 

	  Cost of Goods Sold (less)
	
	$1,903,542 

	Gross Profits
	
	$3,620,968 

	  Operating Expenses (less)
	
	$743,090 

	Net Operating Income (EBIT)
	
	$2,877,878 

	  Interest Expense (less)
	
	$205,471 

	Earnings Before Taxes (EBT)
	
	$2,672,407 

	Taxable Dividends Income
	
	$532,028 

	  Income Taxes (less)
	
	$1,007,052 

	Net Income
	
	$1,665,355 


Moreover, the following is Vida Hotel’s comparative balance sheet as of December 31st, 2016 and December 31st, 2017:
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Assets

  Current Assets

Cash$1,488,260$2,113,012$624,752

Marketable Securities$45,700$66,923$21,223

Accounts Receivable$362,030$398,560$36,530

Inventory$454,021$365,412($88,609)

Other Current Assets$21,024$18,031($2,993)

  Total Current Assets$2,371,035$2,961,938$590,903

Gross Plant and Equipment$785,230$2,025,478$1,240,248

  Accumulated Depreciation (less)$265,365$404,123$138,758

Net Plant and Equipment$519,865$1,621,355$1,101,490

  Total Assets$2,890,900$4,583,293$1,692,393

 

Liabilities & Owners Equity 

  Current Liabilities 

Accounts Payable$615,472$875,425$259,953

Accrued Expenses$85,963$102,458$16,495

Short-term notes$475,823$502,466$26,643

  Total Current Liabilities$1,177,258$1,480,349$303,091

Long-term Debt$700,025$632,500($67,525)

Total Liabilities$1,877,283$2,112,849$235,566

Common Stckholders' Equity 

Common Stock - Par Value$652,890$725,410$72,520

Paid in Capital$45,701$30,073($15,628)

Retained Earnings$315,026$1,714,961$1,399,935

  Total Common Stockholders' Equity$1,013,617$2,470,444$1,456,827

   Total Liabilities & Stockholders' Equity$2,890,900$4,583,293$1,692,393

Vida HotelComparative Balance Sheet

As of December 31

st

, 2016  & December 31

st

, 2017


b) Construct Vida Hotel Statement of Cash Flow for the year ended December 31st, 2017. (3 Points)
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Operating Activities

Net Income$1,665,355

  Increase in accounts receivable($36,530)

  Decrease in inventories$88,609

 Decrease in other current assets$2,993

  Depreciation expense$138,758

  Increase in accounts payable$259,953

  Increase in accrued expenses$16,495

      Cash flow from operating activities$2,135,633

Investing Activities

  Purchase of plant & equipment($1,240,248)

     Cash flow from investing activities($1,240,248)

Financing Activities

 Increase in marketable securities($21,223)

  Increase in short-term notes$26,643

 Decrease in long-term debt($67,525)

  Increase in common stock (Par Value)$72,520

 Decrease in common stock (Paid In Capital)($15,628)

  Cash dividends paid to shareholders($265,420)

      Cash flow from financing activities($270,633)

Increase (decrease) in cash during the year$624,752

Ending cash balance for 2017$2,113,012

For the Year Ended December 31

st

, 2017

Vida HotelStatement of Cash Flow


c) Calculate the Quality of Earnings. Interpret your result. (1 Point)

· Quality of Earnings = (Cash Flow from Operations) / (Net Income) = 2,135,633 / 1,665,355 = 128.24 %.

Thus, in 2017, Vida Hotel’s cash flow from operations was 128.24 % of the firm’s reported net income.

d) Calculate the Capital Acquisition Ratio. Interpret your result. (1 Point)

· Capital Acquisition Ratio = (Cash Flow from Operations) / (Cash Paid for Capital Expenditures) = 2,135,633 / 1,240,248 = 172.19 %.

Thus, in 2017, Vida Hotel was able to finance 172.19 % of its new expenditures for plant and equipment out of the firm’s operation’s cash flow.
e) Based on the income statement (prepared in part a), comparative balance sheet and cash flow statement (prepared in part b), analyze the financial situation of Vida Hotel for the fiscal year 2017. (3 Points)

Income Statement:

· In 2017, Vida hotel is a profitable company as its revenues (i.e. sales) are greater than its costs.

· In 2017, Vida Hotel’s mark-up on its cost of goods sold is 65.54 %.

· In 2017, for each dollar of revenue, Vida Hotel is left with 52.09 cents after deducting all its operating expenses.

· In 2017, each one dollar of sales is associated with 30.14 cents of net income.

Balance Sheet:

· Vida hotel is a highly liquid company as its net working capital is $ 1,481,589. This means that current assets can shrink by as much as $ 1,481,589 and the company would still be able to pay its current liabilities.

· In Vida Hotel, the purchases of assets is financed 46.10 % through debt and 53.90 % through equity.

· For each one dollar of net income, 84.06 cents are retained in the business.

Statement of Cash Flow:

Cash flow from operating activities:

· Vida Hotel has positive cash flows from operating activities.

· The primary contributors to the operating cash flows were net income, accounts payable, and depreciation expense.

· Accounts receivables is the only contributor of cash usage.

Cash flow from investing activities:

· Vida Hotel invested $ 1,240,248 in purchasing fixed assets. This is roughly 58.07 % of the total cash flow generated from operations.

Cash flow from financing activities:

· Vida Hotel has negative cash flows from financing activities.
· Cash inflow is generated from short-term notes and common stock (par value).
· Cash outflow went as payment of already declared dividends and part of long-term debt as well as for acquiring marketable securities and common stock (paid in capital).
3. In 17 years, you would like to have $ 175,000 to buy a vacation home. If you have only today $ 25,000, at what rate must it be compounded monthly for it to grow to needed amount in 17 years? (1 Point)

· Period = 17 * 12 = 204; Present Value = - $ 25,000; Payment = $0; Future Value = $ 175,000.

Answer: Rate (204, 0, -25000, 175000) *12 = 11.50 %.
4. Your grandmother asks for your help in choosing a Certificate of Deposit (CD) from a bank with a one-year maturity and a fixed interest rate. The first certificate (CD1) pays 4.98 % APR compounded continuously, the second certificate (CD2) pays 5.00 % APR compounded daily and the third certificate (CD3) pays 5.01 % APR compounded monthly. Which certificate would you recommend to your grandmother? (1 Point)

· Investing in CD1: Effective Annual Rate = e4.98% - 1 = 5.11 %.

· Investing in CD2: Effective Annual Rate = Effect (5.00 %, 365) = 5.13 %.

· Investing in CD3: Effective Annual Rate = Effect (5.01 %, 12) = 5.13 %.

→ Since I am investing, I shall choose the offer that has the highest Effective Annual Rate. Therefore, I shall invest in CD2 (5.12675 % versus 5.12666 %!).
5. Larin wanted to buy a home that costs $ 625,000. He took a 10-year mortgage loan with Semi-annual payments at an annual rate of 4.52 %.

a) How much will Larin pay each period? (1 Point)

Interest = 4.52 % / 2 = 2.26 %, Period = 10 * 2 = 20; Present Value = $ 625,000; Future Value = $ 0

Answer: Payment (2.26 %, 20, 625000, 0) = $ - 39,188.68.

b) Fill in the amortization schedule. (3 Points)
	Period
	Amount Owed on the Principal (Beg. Period) ($)
	Annuity Payment ($)
	Interest Portion of the Annuity ($)
	Repayment of the Principal Portion of the Annuity ($)
	Outstanding Loan Balance ($)

	
	
	
	
	
	

	1
	$625,000.00 
	$39,188.68 
	$14,125.00 
	$25,063.68 
	$599,936.32 

	2
	$599,936.32 
	$39,188.68 
	$13,558.56 
	$25,630.12 
	$574,306.19 

	3
	$574,306.19 
	$39,188.68 
	$12,979.32 
	$26,209.36 
	$548,096.83 

	4
	$548,096.83 
	$39,188.68 
	$12,386.99 
	$26,801.70 
	$521,295.13 

	5
	$521,295.13 
	$39,188.68 
	$11,781.27 
	$27,407.41 
	$493,887.71 

	6
	$493,887.71 
	$39,188.68 
	$11,161.86 
	$28,026.82 
	$465,860.89 

	7
	$465,860.89 
	$39,188.68 
	$10,528.46 
	$28,660.23 
	$437,200.66 

	8
	$437,200.66 
	$39,188.68 
	$9,880.73 
	$29,307.95 
	$407,892.71 

	9
	$407,892.71 
	$39,188.68 
	$9,218.38 
	$29,970.31 
	$377,922.40 

	10
	$377,922.40 
	$39,188.68 
	$8,541.05 
	$30,647.64 
	$347,274.77 

	11
	$347,274.77 
	$39,188.68 
	$7,848.41 
	$31,340.28 
	$315,934.49 

	12
	$315,934.49 
	$39,188.68 
	$7,140.12 
	$32,048.57 
	$283,885.92 

	13
	$283,885.92 
	$39,188.68 
	$6,415.82 
	$32,772.86 
	$251,113.06 

	14
	$251,113.06 
	$39,188.68 
	$5,675.16 
	$33,513.53 
	$217,599.53 

	15
	$217,599.53 
	$39,188.68 
	$4,917.75 
	$34,270.94 
	$183,328.60 

	16
	$183,328.60 
	$39,188.68 
	$4,143.23 
	$35,045.46 
	$148,283.14 

	17
	$148,283.14 
	$39,188.68 
	$3,351.20 
	$35,837.49 
	$112,445.65 

	18
	$112,445.65 
	$39,188.68 
	$2,541.27 
	$36,647.41 
	$75,798.24 

	19
	$75,798.24 
	$39,188.68 
	$1,713.04 
	$37,475.64 
	$38,322.59 

	20
	$38,322.59 
	$39,188.68 
	$866.09 
	$38,322.59 
	$0.00 


c) Suppose that exactly after 4 years, mortgage interest rates fell to 3.92 %. If Larin has the chance to refinance his loan at that very interest, how much would he pay (on a semi-annual basis) for the remaining 6 years of the loan? (2 Points)

Interest = 3.92 % / 2 = 1.96 %, Period = 6 * 2 = 12; Present Value = $ 407,892.71; Future Value = $ 0

Answer: Payment (1.96 %, 12, 407892.71, 0) = $ - 38,475.48.
d) If such a refinance opportunity is associated with paying a prepayment penalty fee to the bank of $ 6,500, would Larin refinance his loan? Why? Why not? (2 Points)

The answer to this question lies in coming up with cash flow increments by taking the difference of cash flows (for each of the remaining 6 years) between the first scenario (i.e. continuing paying $ 39,188.68) and second scenario (i.e. paying $ 6,500 as a penalty in year 0, and saving $ 713.20, on a semi-annual basis, for the remaining 6 years). To sum up, the following table reveals the cash flow increments from opting for the second scenario:

[image: image3.emf]PeriodCash FlowPresent Value

0($6,500.00)($6,500.00)

1$713.20$699.49

2$713.20$686.05

3$713.20$672.86

4$713.20$659.92

5$713.20$647.24

6$713.20$634.80

7$713.20$622.59

8$713.20$610.62

9$713.20$598.89

10$713.20$587.37

11$713.20$576.08

12$713.20$565.01

Total$1,060.92


As can be seen from the above table, paying $ 6,500 as a pre-payment penalty but start saving $ 713.20 for the remaining 6 years (i.e. 39,188.68 – 38,475.48) would yield a positive return. Hence, Larin shall re-finance the mortgage loan since he will be better off in the second scenario.
6. Upon evaluation of the distribution of returns of Fabri company, the following possible rate of returns for the upcoming period as long as their probability of occurrence are estimated:
	Probability of Occurrence
	Rate of Return on Investment

	
	

	9%
	-4.53%

	15%
	-3.17%

	22%
	2.67%

	30%
	4.78%

	12%
	7.35%

	5%
	10.02%

	7%
	14.99%


a) Calculate the Expected Rate of Return of Fabri Company stock. (1 Point)

· Expected Rate of Return = (9 % * - 4.53 %) + (15 % * - 3.17 %) + (22 % * 2.67 %) + (30 % * 4.78 %) + (12 % * 7.35 %) + (5 % * 10.02 %) + (7 % * 14.99 %) = 3.57 %.
b) What is the risk of the investment in Fabri Company stock as measured using the standard deviation of possible future rates of return? (2 Points)
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ProductStep 2Step 3

9%-4.53%

-0.41%0.006561810.00059056

15%-3.17%

-0.48%0.0045434340.00068152

22%2.67%

0.59%8.109E-051.784E-05

30%4.78%

1.43%0.0001462894.3887E-05

12%7.35%

0.88%0.0014284620.00017142

5%10.02%

0.50%0.0041596050.00020798

7%14.99%

1.05%0.0130404980.00091283

100%Expected Rate of Return3.57%Step 1

Variance0.26%

Standard Deviation5.12%


7. Orkun bought some stocks of Çınar Company worth of 2,000,000 TL 8 years ago. Following is the beginning value of Orkun’s bought stocks 8 years ago as well as the values at the end of each year up until today (the end of year 8):
	Year
	Annual Rate of Return
	Stock Value (TL)

	
	
	

	0
	 
	2,000,000.00

	1
	4.05%
	2,081,000.00

	2
	-2.75%
	2,023,772.50

	3
	3.56%
	2,095,818.80

	4
	-6.24%
	1,965,039.71

	5
	5.17%
	2,066,632.26

	6
	6.99%
	2,211,089.86

	7
	7.03%
	2,366,529.47

	8
	-0.88%
	2,345,704.01


a) What will be the annual rate of return that Orkun expects to earn next year, if he plans to continue holding Çınar Company stocks? (1 Point)

· Annual rate of return that Orkun expects to earn next year, if he plans to continue holding Çınar Company stocks = (4.05 % - 2.75 % + 3.56 % - 6.24 % + 5.17 % + 6.99 % + 7.03 % - 0.88 %) / 8 = 2.12 %.
b) What annual rate of return that Orkun expects over a four-year horizon from holding Çınar Company stocks? (1 Point)

Annual rate of return that Orkun expects over a four-year horizon from holding Çınar Company stocks = ((1 + 5.17 %) * (1 + 6.99 %) * (1 + 7.03 %) * (1 - 0.88 %))^(1/4)) – 1) = 4.53 %.
8. What does the “Behavioral View” of markets tell us? What consequences occur when such an assumption is not observed in a market? (2 Points)
The “Behavioral View” of markets states that investors, as a group, are pretty rational. When such an assumption is not observed in the market, investors do not rationally process information. Hence, markets may not accurately reflect even public information. For example, overconfident investors may under react when management announces earnings as they have too much confidence in their own views of the company’s true value and tend to place too little weight on new information provided by management. As a result, this new information, even though it is publicly and freely available, is not completely reflected in stock prices.
9. Suppose you recently graduated from Bilkent University Department of Tourism & Hotel Management and you are evaluating an investment in two companies’ common stocks. You have collected the following information about common stock of Firm A and Firm B:

	
	Expected Return
	Standard Deviation

	
	
	

	Firm A's Common Stock
	15.63%
	17.46%

	Firm B's Common Stock
	19.45%
	22.42%

	
	
	

	Correlation Coefficient (A - B)
	0.56


Furthermore, suppose you decided to invest 75 % of your fortune in company A’s common stock and the remaining in company B’s common stock.
a) What is the Expected Rate of Return on your selected portfolio? (0.50 Points)

· Expected Rate of Return = (75 % * 15.63 %) + (25 % * 19.45 %) = 16.59 %.
b) What is the Risk of your portfolio measured as a standard deviation? (2 Point)

· Risk = sqrt(75%^2 * 17.46%^2) + (25%^2 * 22.42%^2) + (2 * 75% * 25% * 0.56 * 17.46% * 22.42%)) = 16.88 %.

c) If the correlation coefficient between common stocks A & B returns falls to - 0.56, calculate the Expected Rate of Return and Risk on your portfolio? What do you conclude? (1.50 Points)
· Expected Rate of Return = (75 % * 15.63 %) + (25 % * 19.45 %) = 16.59 %.

· Risk = sqrt(75%^2 * 17.46%^2) + (25%^2 * 22.42%^2) + (2 * 75% * 25% * - 0.56 * 17.46% * 22.42%)) = 10.99 %.

→ Here, we can conclude that as the correlation coefficient between 2 common stocks decreases, the risk associated with the portfolio decreases also (assuming no other variable changes). On the other hand, there is no effect on the expected rate of return of the portfolio.
GOOD LUCK!
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